O (a +b> _ 16 + Sa*b .+ l0a®h* + 10420 + Sab” +]b
S0 Jor (8+f) o substide 478 ad b={Z:
(S’N‘) 8° + 5(3) (J‘) + (&) +10(8)° (J‘) 5@ @ (=)

32768 + 2048042 + lo2ko + \280yZ + IO * 4z

i

42168 + 2176%(5

==
-

@ (ax) =07 + Tafb +21a"b® + 35a* K +35°b" + 21a’h” +Tob"+ b7
(1+93)= | + 705 + B 63 + 10573 + 315 + 1893 + 189 + 273

- 568 * 3283
@ (x+6) = ot + ()N + 6(2)(e) + (906D + 6

_ogct 24Pt 216 x> 4+ 864x + 296

@(miyz 7+ T )+ 25(3) + Sx"() + 35x() + 2200+ Q) (3

- x_ U léq q 5'0395 + 5lo3w , 2187



® (3 + J§>’= & + 3@h + 3ab*+ 1
= (32 +3(3=)(%8) + 3G)'() + (&)

= 2723 + 215 x> + b5 u5x + 55

© (e + 31—5)4: &t + 4adb + 6a*V + Lab® + bt
x4 (2)(6) + T GE) + +2(36) + (o

=X+ 1205 + 270x* + 5405 . + 2025



@ g™ baram i (3-&(5'“ l
4
n K3 e 0 6 1 8
55 165 3% Ub2 3% 165
5 & & %
5 6 1

\ Z

Pa \ |
o« %
( 2 3 £

165 (2)*(®)

- 1¢5 (¢1) (\zSJ?)
ok l/é70,67-5xg

1)
[\
u

e c——

——

2% ke g (32 +13)"

n U 2 3 v+ 5 6 71 & 1 1o n 1z
\ 7 136 6% 238% 6188 1237 9uyd 2430 2u3lo 19448 12376
{a W 15 @ 13 12 M o 9 3 T 6
! g & 1o U
, o \ 3 &% § 6

g, = 12376 (3)° ()’
= 12376 (w_qyc") ( 2‘*“’3)

= 219232723 x’




@ é‘\’k berw A ("(‘)C«q'--f %)\o

n \ 2 3 W S
Pa \ lo 45 120 210 252
Q Ke) a( 8 K é 5
5 \ 9
tg = 252 (LM) <§>
= 252 (logy >c'> (—3—%)
= $2575%x°
243
| 1 e _ ' !
o (2345
n | 2 3 U S G 1
G | W 55 165 330 ke2 o2
a Wl 1o 9 & 1 b 5

t,= 462 2;8)5(5)6

= b2 (32:09 (2 )

= 399,168 2'®



’ o
Ak berw A (3a? & _J\__;>
\ % E L 5 a8 | 't
\ \o w5 120 20 @ 252 2o 20
lo q ' T 6 9 L 3
2 N S ¢ T

5. @x})?' G‘g)g
= 45 Cale') (}\T )

- 5yt

\

A0 berm

+5

SX

S

\lh'b Xerm d‘) 2 _ 395\1

5

2 3 & 5 6 1 ¢ 9 ‘o M
|2 66 20 %95 191 924 19 ¢95 220 b6

2
W« o 1 % 1 ¢ o 4 3

2 Y g 6 1 g 9 lo
| -

e Q0

= 66 (—‘é—*) (5ﬁ o4 x‘i

. 155869362
5




@ 5“’\ ‘buwb (V\

7:0—-——-—'

| +232

w | 2 > * ¥
A 1 o= e
7 ¢ 5 4]
\ S
, ©
Fgh, dow = 35 (7"‘> ( 'Lr’)
2 zse
. - 3073280 %
N3 + 1z
‘ )
> v
) 1 4+ 24z i .(-Q—E
B +3 +2JZ | +18Jz  +le

L 1

]

+2Z

b&
25 4 223z
25 X 22(2"



o \ e
L(v WM L (?. = E 1
5 2

\ 2 3 @
| 12 tb 220
lo 1

2 I

0 y A
t"l‘ = 270 G’>q<' E\j
3 2
220( 14633 3r
195%129

129907803

1))

it

15625000

781250



= i
V) \ 2 & T 5 ¢ A
b | 3 2% 5 To 56 28
o ¥ 16 5 % % v
y 0 | * 3 b9 e
- 2 i 6
i (%) )
_ gef2oe2)(12A
28 4) 3»3>
- 510300
1372
| 21515
U2
n=3+2 =5
;3 % ’
O 5 | O |0 2 |
o2y~ - Iy =y 2t
10
. | t, = - 5(20)*(49)
gt = 2x - Box'y
<vvwc +j§ =<27°+“3\>5 Sl
w 80.




‘ V\:T‘l' | = Y S
x M S 2 \ o

-4 XY . -bx?

}[ox® = -25198421c

& 4
- (M)c ¥ DX ) QZ'5“1842\7¢ +J>
B 'y

b (-25meunrx) (y?) = -38-09762505 2%y

So  tue co«edwwy . -38-09762525




3 21 o)
P \ § 28 56 To &6 28 |
+3150x* . 625 x*
TJo
W'*‘ Hx
2
(M?c* > = (596 -I—j)
2 6 2
x"f om © 2% Bacy(v) = B37,50x Y
So 43150 © e ¢ -~ eftets
@ = 3 4+7=10
. 0 1 g ¢ 5 W 2 - L \ ?
Q& | lo &5 lzo 2o 232 510 120 45 10
réll«b'v{vO:r} = 51?_>c,3
| 20
3.)5'\1x= 8x
n 10
CM'L +J> o B <g7£>+:j)
ke R-Z > ol k + k-2 = |O
= ol v + R = 12
N Lk = 6
LY SV .
ZIOCQJC) Yy = 55050240 % 3



	Answers So Far
	Answers1a
	Answers 2b
	Answers3ca
	Answers3cb
	Answers4d
	Answers5e

	14
	15
	17
	19

